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l. Find the equivatent rf:sistanr.:e of the circuit below a-b: and v(t) for t 2> -}
if v(-1)=20V. (10%,) 5 ¥
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The first switch moves from a to b ar t=

— 0 and the second switch closes at

Find the current i{t) fort=0 {15%) Belfore + == the circait h3s

verched gq.E;g?b shape .

4. Assume that there 15 no initial energy stored in the following circuit, Please use
node-voltage method to find i . (10%)
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5 . What is the order of a low-pass Butierworth filter that has a cutoff frequency of 2

kHz and a gain of at least =30 dB at 7 ki{z? (10%) And what is the actual gain at 7
kHz? {5%)

6. Use the Fourier transform method to calculate v, in the following cireuit with
v =12560875¢ V. {10%)
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&. The peak ampiitude of the sinnsoidal voltage
source in the circuit shown in the ¥aht is
180-/2 ¥, and its pexiod is 250 ps. The load 500 11 R
resistor can he varied from 0 10 200 2, and the load Ed "“,VL
capacitor can be varied from 1104 uF.
Determnine the settings of K and CY, that will 9 62 oM TGt

result in the most average power being
transferred to Ry.

{155}

7 Find the reading of each wartmeter in the circuit
shown' bejow, HZx=20/%" 2,
Zg — 60 /1P . and Zo =40/ -3 Q. (5%
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